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PART A : SHORT ESSAY QUESTIONS (25 MARKS) 
 

INSTRUCTION (S) : There are TWO (2) short essay questions in this section. Answer ALL 
questions in the Answer Booklet(s) provided. 

 

 
 
QUESTION 1   
a) The importance of financial management can be illustrated through the review of the activities of a 

firm and its financial position at any point in time. Define the following components and provide 
ONE (1) relevant example for each component to support your answer: 
(i) Non-current assets 
(ii) Current assets 
(iii) Non-current liabilities 
(iv) Current liabilities 

(12 marks) 
 
b) Describe the difference between profit maximization and wealth maximization.               (4 marks) 

[Total 16 marks] 
 
 
QUESTION 2 
a) There are many forms of business structure in Malaysia. Describe FOUR (4) features of a limited 

company.                      (8 marks)             
b) State any ONE (1) type of company that is available in Malaysia besides private and public 

company.                                                                                                                                                  (1 mark) 
 [Total 9 marks] 

 
 
 
 
 
 
 
 
 
 

END OF PART A 
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PART B   : PROBLEM SOLVING QUESTIONS (75 MARKS) 
 
INSTRUCTION(S) : FOUR (4) problem solving questions. Answer ALL questions in the Answer 

Booklet(s) provided. 
 

 
QUESTION 1 
A summary of Gopa Bhd final accounts at 31 December 2020 is as follows: 

Statement of Profit or Loss for the Period Ended 31 December 

 

2019 
RM'000 

2020 
RM'000 

Sales  160  250  

Cost of goods sold (100) (120) 

Gross profit 60  130  

Operating expenses (35) (80) 

Interest (10) (25) 

Net profit 15  25  

 

Statement of Financial Position as at 31 December 

 

2019 
RM'000 

2020 
RM'000 

Non-current assets   

Property, plant and equipment 82  129  

   

Current assets   

Inventory  8  14  

Accounts receivable  12  22  

Bank 4  - 

Total assets 106  165  

   

Capital and reserves   

Share capital  50  50  

Retained earnings 50  90  

 100  140  

Current liabilities   

Bank  - 5  

Accounts payable 6  20  

 6  25  

Total equity and liabilities 106  165  

   
Additional information: 

- All sales and purchases are assumed to be on credit basis. 

- The opening stock for the year ended 2019 was valued at RM20,000. 
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Required 

a) Calculate the following ratios to the nearest to TWO (2) decimal place: 

(i) Return on total capital employed (using net profit before interest) 

(ii) Gross profit margin 

(iii) Net profit margin  

(iv) Debt ratio 

(v) Acid test ratio 

(vi) Accounts receivable collection (days) 

(vii) Accounts payable settlement (days) 

(viii) Inventory turnover (days) 

(16 marks) 

 

b) State the effect (increase or decrease) in the following scenarios that will have upon the accounts 

receivable and accounts payable: 

No. Scenario 
Collection/Settlement 

Period (Days) 

Turnover Rate  

(times) 

(i)  Slow in collecting the debts from accounts 

receivable 

  

(ii)  Pay the accounts payable before the credit 

terms 

  

 (4 marks) 

[Total 20 marks] 

 
 
QUESTION 2 
Medi Plus Bhd (MPB) is a manufacturing of pharmaceutical products. The company is considering an 

investment in new machinery. The management has presented two proposals with the following 

amount of investment: 

Machine Amount (RM’000) 

Machine Axis (A) 650 

Machine BTech (B) 700 

 

The managing director of the view that Machine BTech will have the extra capacity features as 

compared to Machine Axis due to the price differentiation. He always believes that by paying extra, the 

machine is more superior. 
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The management has produced the following cash flows and evaluating based on various techniques of 

investment appraisal: 

Year 
Machine A 

RM'000 
Machine B 

RM'000 

0  (650) (700) 

1  25  20  

2  450  450  

3  300  200  

4  200  300  

5  120  180  

 

The following assumptions apply: 

(i) It is assumed that zero disposal value after five years, would be written off using the straight-line 

method. The depreciation has not been deducted in the cash flows estimates above, which should 

be assumed to arise at each year end. 

(ii) Assume that the company’s required rate of return is at a discount rate of 10% per annum and the 

company’s policy on payback period of any investment should not be more than 4 years. 

 

Required 

a) Calculate the following: 

(i) Accounting rate of return 

(ii) Payback period 

(iii) Net present value of the investment 

(iv) Internal rate of return (suggest to select discount rate of 25%) 

(16 marks) 

 

b)  Recommend whether MPB should undertake this project, giving reasons based on the investment 

appraisal that you have calculated in item (a) above.                                      (4 marks) 

 

c) List TWO (2) advantages and TWO (2) disadvantages of payback period.              (4 marks) 

 

d) The management of MPB agreed that the payback period is easy to compute and understand. 

However, it does not adjust cash flow for the time value of money. Name the alternative method of 

payback period.                                                                (1 mark) 

[Total 25 marks] 
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QUESTION 3 
Starhill Bhd is considering invest in the two manufacturing securities: Company G and Company H. The 

following are possible states of the trend and the returns associated with Company G and Company H in 

those states: 

Possible 
outcome 

Probability  
Rate of return  

Company G Company H 

Bullish trend 0.3  50% 25% 

Normal trend 0.4  20% 15% 

Bearish trend 0.3  -10% 15% 

 

Required 

a) Calculate the following for both the securities: 

(i) Expected rate of return 

(ii) Standard deviation  

(iii) Coefficient of variation                 (12 marks) 

 

b) From the calculation obtained in item (a) above, recommend to Starhill Bhd the most favourable 

security by commenting on the standard deviation and which investment is less risky and yield the 

actual outcome.                                  (3 marks) 

       

Last year, Starhill Bhd had paid a dividend of RM4.00 for 10 million shares issued. The company expects 

the same rate of growth of 10% for foreseeable future. The company is reported a current market price 

of RM36.00. 

c) Calculate the company cost of capital using the Gordon’s dividend growth model.              (5 marks) 

 [Total 20 marks) 

 
 
QUESTION 4 
a) Suppose Shaun inherited RM200,000 from his father and invested it at 6% per year. Calculate how 

much he could withdraw at the end of each of the next 15 years.                (3 marks) 
 

b) Rudy will retire in 20 years. This year he wants to fund an amount of RM15,000 to become available 
in 20 years. Calculate how much he has to deposit now into a pension plan earning 7% annually. 

(3 marks) 
 
c) Bennington Company has borrowed a certain amount from the bank that it will repay in 24 monthly 

installments. The bank charges 12% interest annually on this loan and the monthly payment is 
RM6,000. Calculate the amount of loan that the Company needs to borrow.              (4 marks) 

 [Total 10 marks) 

 
 

END OF QUESTION PAPER 
 


